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) CMRIT
Internal Assessment Test Il - August 2023
Sub: | Mathematics — 11 for CSE Stream Sub Code: | BMATS201
Date: | 08/08/2023 | Duration: | 90 mins Max Marks: |50 | Sem/ Sec: 1/1,d,KL OBE
Answer any FIVE questions. Keep accuracy up to four decimal places for all questions. MARKS |CO |RBT
L Using Taylor’s series method Solve % = x% — 1y, y(0)=1 to get y(0.1) considering up to [10] |CO5 L3
fourth degree term..
2. yUse Runge-Kutta method to find y(0.2) for % = ;% ,y(0) =1 taking h=0.2 [10] CO5 L3
3. Use Modified Euler’s method to compute y(0.1) given % = x +y ,y(0) =1 taking h=0.1 [10] |CO5 L3
4. Use Milne’s Predictor-corrector method to compute y(1.4) if given % = x? +§ , from the [10] |CO5 L3
data
X 1 1.1 1.2 1.3
y 2 2.2156 2.4549 2.7514
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Answer any FIVE guestions. Keep accuracy up to four decimal places for all questions MARKS |CO |RBT
L. Using Taylor’s series method Solve % = x2 — y,y(0)=1to get y(0.1) considering up to [10] |CO5 L3
fourth degree term.
2. Use Runge-Kutta method to find y(0.2) for % = ;% ,y(0) =1 taking h=0.2 [10] CO5 L3
3. Use Modified Euler’s method to compute y(0.1) given % =x +y ,y(0) =1 taking h=0.1 [10] cO5 L3
4. Use Milne’s Predictor-corrector method to compute y(1.4) if given % = x? +§ , from the [10] |CO5 L3
data
X 1 1.1 1.2 1.3
y 2 2.2156 2.4549 2.7514




CO4| L3
. . . [5+5]
taking four ordinates using

(2) Trapezoidal rule

1
Evaluate |= ffe(i)dx,
(1) Simpson’s( 3/8)"" rule
[10] | CO4 L3

Find an approximate root of the equation x® — 3x + 4 = 0 using the method of false
position, correct to three decimal places which lie between -3 and -2.

Use Newton’s divided difference formulae to fit the polynomial to the data CO4| L3
X 4 7 9 12 [10]
y=f(x) -43 83 327 1053
CO4| L3
4 (l) ] . . [5+5]
Evaluate |= | , exdx taking four ordinates using

(1) Simpson’s( 3/8)" rule  (2) Trapezoidal rule

[07] CO4 L3

Find an approximate root of the equation x> — 3x + 4 = 0 using the method of
false position, correct to three decimal places which lie between -3 and -2.

Use Newton’s appropriate formulae to find f (24) and f (42) given that CO4| L3
x 20 25 30 35 40 [10]
y=f(x) 0.3420 0.4226 0.5000 0.5736 0.6428




Mathemadts T for CSE Stowomt — BMATS W

I:‘»;‘\\\* o L & -

\‘Emen \j 22y with %3 =0, Yo =)

B r y' = 2>y = yYlg)=0~-1=~
y" =a{’3‘ = Y'(rp)=2a0©O+ =
y"= -y =  y'p) = a-1 =
P (N d yNVeto) = —!

Tauloy} )»ouu expamicm IS :

. (%>’ G ) +

Y0 =y(xe) + (X —2e) q'Cio> 4 (%™ "c:,,p
Q) 31

C"L"'Zo)(f qw(lo)

LYOO= ) i?i‘-. +—"'~3 Aty q!
4.0 = |+ (o ) =0)C- + C° '32 o+ CO 1 (13 4 (o0 ()

al 3\ 4)

>0-‘105)

2. | Bydaa Lo =32 ,%=0_y.=1_ h=02
~ J S =

ky= h$(o0,90)= 02 [iog | =0:2

. =h $(Foth, so-l——!-)—-oaf' e L= B ey
Ctre)

:kg :"'h'? (1'10+b5 '30-‘—2.\:; O-. |662.
‘ S - .7

ky = h$Oth, v, +k3)= 0.141Yy

= |-1676

3. 25=0, Yy=I, o)

-?('X;S)::‘L-P'j 5 ‘?C'ZO'HOD?——IQ-Fﬂo:O‘Fl:,

Ay = th= o1, yy)=y,= ?




——
—

| From Eulu's favmula

qg"): Yot h$0lole) = | +0-1 (D = -]

Modified &uion's fovmula =

Y= bt B [4etg o)+ (2,4f) ]

- 1

=

il
&

+

oth [2010,40) + £ (2,4 ]

Q
= [-11085

‘ 1
- | 35’) = 3e+% {4¢20.Y0) + $ (4 ,B,O)):l

|+ 0-08[ | + 01+ 1-1105 )

= |- 1108
=Y = Yy (oD = [1lO5
Y o> Y T S e
A= Y= 99 =i
o =1 Yy, =R-215¢ 3;':—3 2173
Ay =1-2 Y,=2-454¢9 9__2‘_-.-2 Graus"
=1-3 = | —
Ay =1 LLB AR 1LY %._2 06s7
A, =1-4 Yy, =7
&’

Hum—"-Bo-PE’L, (ay -2y -H)yg'): 3.-0793
& -

a) = ’J(z?‘—}—ggm
\J\' ¥ | 1 w3 O

S Yy =Y -4 = 3-079¢%



el . oaad e o/
n 3 .

\B ] 2.1183| 1- 6481 i-.';'.esé /Aéiéuol
Yo  oudls < da. .. ?.93

: ~pla LY |

Ct) Sermpsand 3/6% Rule -

] = éb_ {‘(Bo‘fgﬁ i 3(9,-1—92):]
g : h*

X -

= 4.9257
2D 'rs—mpez,otdo.(t?uu-‘
- 0
T = b [cyry) + A4
= §.04y55
#0 fem=-1v, £C-DF27 SRR AR

0C-2-2) = —0.0Ug <O°
.20

n 4

p(-@) = 03 i 2 o . o .
s b -0 1B T CAD= xppu 8y f (B =031
;A i tonoHON ? a ='—Q‘&'.‘, O AR Lt P g

-
.

~h il i
2y = QBT DG $CR1956) = 0:002¢

£(b) ~4(a)

2 ""Q ‘HSG .0 ";

T ioptfn: -3, b= -2:1856¢
e R R SRR, e

~ 5§00 ,
Ly = af(b) >—b-F(a> T,




6' { C-a.1a57) =0.001Yy

I fieon: g=-2.2
b ==8.1957
X3=—Q.1053
LV L &
Q= —2-2

pPCay= —0.0OYg
LCh)= 0001y

f (22) = 00003

£(a) = — 00U
£ (p)y= 0.0003

)

e y Top T DD T DD
9] ,ug
"‘!a
7 83 6
122 e r
b 327 ﬁl]
) Qya
19 1053

Above ts fae Divfded. Difjenence 1ablt fov i 8men data.

Newsan 5 Divided D%emnce Fovroul o rsgmcn 65:

Yd = Yltg) +(x-20) L(2or)+ (A0 (x~x,) P (%, s w+

Cx =20 (=) CX~%) £(%p, % , Yy, X3)

C U3ty AT 4 (DO (D

= eyl s

This ts fha Goquined polynomial’ -

YL e



